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1. U REmaal qiigdl gard SR HT. 1. Fill in every information asked for.
2> w4 ¥ |i=an 2. Attempt all questions.
3 peE peETETE Sieeredl whd Od, AN 3. Write the answer with explanation in

o = T the blank space below each question.
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4 =3 TEEICS! YIS JER fewen S page for rough work.
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= === fEEaR SRid W d d&acwd on the last blank page.
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1) o9 S&g™ IR 4 ¢ 5 : 7 3G i aia 8820 3118, TR T HEAT PHIveaT ? 4
1) The ratio of three numbers is 4 : 5 : 7 and their LCM is 8820. Find the numbers. 4
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2) Grefta faumma H=eor o1 onfor e 2 =« 3 @ 4 = 1 =1 [T Frern 4

2) Observe the following statements and hence find the value of 2 = 3 @ 4 = 1. 4
(1) 7T w2 <=i38; 583 =235

(2) T2 5+3=3-8=T7TEC6+8=3
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3) a,b&ﬂ‘faTcﬂﬁqwmmﬁwaﬂﬁb—a=3?,ﬁ?c@ﬁﬂﬁﬁﬁmaﬂﬁ? 4

3) a, b and c are squares of three consecutive integers. If b —a =87, find c. 4
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4) ¥ P,/ Find the sum. 4

1 1 1 1 1
C 2 T i e i +
90 110 132 182 210
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5) UcHE HTPR T X, 801497561 + 55 TT HIPRIA SNUIRT STehl BIGT. 5
5) Find the remainder, if 801497561 is divided by 55, without carrying out the division.

n

—'——F—_—_—d_——__—_———_—_-—-———-——_-———_-_—__——_l

Rough Work /&= &




§) 1 WRER 2014 skt FOUM FALEY. 8 &, TehareeaTH, B. 25,000/ - Foifes Beel

anfr & 27 & 2015 oA WTTRAE URa el TR T TRV febell e et ? 5
6) On January 1, 2014 Krishna borrowed Rs. 25,000/~ at 8 p.c.p.a. by compound interest. He
returned it with interest on 27 May 2015. How much amount did he return? 5
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7) ST sl qRAfeTETY  PQRS & 3TId 318 3T 5

XYTS & 9k o2, SR Sraret @it anfor ot orgeet 18 p 2 S
At 7 12 [ o, W XYTS ¥ &5 foncht amiar ? \
Y 3
7) As shown in the given figure, PQRS is a rectangle and
XYTS is a square. If the length and breadth of the Q -
rectangle is 18 cm and 12 cm respectively, what would be
the area of XYTS? ..
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8) TP @M 3 IoV fhar 6 Rerar 156 figwiar qof aware. 2 eu & Raw a7 Searr
Setel M 3 Rerriet quf et, oR T e et g et ?

8) Three men or six women can do a work in 15 days. Two men worked for three days on

the work. The remaining work was completed by 3 women. How many days did they take
for it? * 5
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9) iﬂmgﬂwwqﬁﬁﬁﬂéﬁmﬁqfﬁﬁaﬁaﬂyﬁﬁm? 5

35 71

9) Find the smallest fraction, which if divided by %, %’_El and l—g yields an integer. 5
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10) a1 10.5 ¥t 11.9 3 onfor 5.6 |t aRAeia U@ Brepivr @t adera sidfeiRad del
3R, TS TIR Felel A, B 307 C g ago@s 3RIT idd! C & wFafd Aler 3. @ C
1 FfSEST 8T DIal, 5

10) A triangle of sides 10.5 cm. 11.9 cm and 5.6 cm is inscribed in a circle, which creates
three segments A, B and C of the circle. The segment C is the largest. Find the area of C. + 5
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11) 9 SraaeaT OTPRTE TART 3 - 2 & we for.

11) Write the numbers 3 12 _ 212 a5 a product of prime numbers.
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12) Q9 =RATAT HUTAT AT TP 32 WHT 3R AT dhesidiel TR 64 aRHY
12) The difference between the lengths of the diagonals of two squares is v/32 c¢m and the
! difference between their areas is 64 cm”. Find the lengths of their sides.
ﬂ
|
|
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4151 7967 5

13) |0 39 =M. Simplify : e
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14) AABC H&2 /(AB) = 14, I(BC) = 13 37for ((AC) = 15. T
AC @ &%, IR TP IS S AB 1 P Hed 37f0r 1]
BC & Q H&J w3l &xa, TR 1 agwrd! Ao e,

14) In AABC; I(AB) = 14, /(BC) = 13, I(AC) = 15. A circle with

its centre on side AC touches side AB at P and side BC at
Q. Find the radius of the circle.
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15) Aredr. Solve : e TSR 5
2x-7 2x-3 2x-1 2x-9
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16) Hscrean et ; fig P, T @ R 8 S5 AN AB a9 AC
3Tfor &5 BC &R 3Ted. W& PR || 9L AC, A
X PT || 919 BC 37 & TR a9 AB. fig Q & & BR
97 A8 38, R A(APBQ) = 12.5, % A(AABC) Prer. P g

16) In the given figure; points P, T and R are on the sides AB,
AC and BC respectively. seg PR || seg AC, seg PT || seg BC B
and seg TR || seg AB. Point Q is the mid-point of seg BR. ] R

If A (APBQ) = 12.5, find the area of AABC.
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17) 9 #afifes FEIrear il gomern! gl Faid Aol b 37l He TEAT 3R, R AT [T

PIUTCT ? 6
17) The difference of squares of two natural numbers is the greatest three digit prime number.
Find the two numbers. 6
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18) IoTR=dT Pl FrEfATATIE, KLMN & &1 100
VIR TN 3Me. fdg P & a9 KN @1 anf)r fig O &
KLMN a1 5eg 3fe. 9] KL & g B o/ ame, &t
ILB) = 37. W& KP = fig A 3R IKA) = x. R
A( KAOB) = 2000 39, x @t 9T e,

18) As shown in the figure, KLMN is a square of side 100.
Point P is the mid-point of seg KN and point O is the center
of the square. On side KL, Point B is such that

I(LB) = 37. On seg KP, point A is such that (KA) = x. If
A( KAOB) = 2000, find x.
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19) SR a+b+c¢c=0 T JET, Eﬁ{az+bj+u2}2=2{f+b4+c4)
19) Ifa+b+c=0,shnwﬂlat(az+b2+u2}z=2(a4+h4+c4) 6
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20) TopT fpRapies @ T 200 Uy foalf gRmEm @ret s¥¢ 31for ¥ 250 uf b SR el
| A oA TEur 50 R wer wRal dem. of oA Bewd T 264 uRi R XM

fieeaTge <aTell 20% AW e, TR M HICKH Fgr fset eder g ? 6

| 20) A retailer purchased some dust tea and some CTC tea at ¥ 200 per kg and ¥ 250 per kg

| respectively. He mixed them and sold the mixture at ¥ 264 per kg. In the deal he earned -
20% profit. Find how much CTC he had purchased if the total weight of the mixture was
50 kg. 6
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